Rovnice s nasobenim zavorek - lehéi typy

1. Re§ rovnici: (x+2)-(x+1)=x"+8

Redeni:
(x+2)-(x+1)=x"+8

X2+ X+2X+2=%X"+8 [-X

3x+2=8 /-2
3x=6 /:3
X=2

Zkoudka: L(2)=4-3=12; P(2)=4+8=12=L(2)=P(2)

2. Res rovnici: (x+4)-(x+5)=x*+29

Reseni:
(x+4)-(x+5)=x*+29

X2 +5X+4x+20=x>+29 /-Xx°

9x+20=29 /-20
9% =9 /:9
x=1

Zkouska: L(1)=5-6=30; P(1)=1+29=30=L(1)=P(1)

3. Res rovnici: (x—2)-(x-5)=x"+3

Reseni:
(x—=2)-(x=5)=x"+3

x> —5x—2x+10=x*+3 /- x*

—7x+10=3 /-10
—TIx=-7 1:(-7)
x=1

Zkouska: L(1)=(-1)-(-4)=4; P(1)=1+3=4=L(1)=P(2)
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4. Re3 rovnici: (x—5)-(2x—7)=2x*+52

Reseni:
(x=5)-(2x-7)=2x"+52
2X2 —7x—-10x+35=2x*+52 [-2x?

-17x+35=52 /-35
-17x =17 /:(—17)
x=-1

Zkouska: L(~1)=(-6)-(-9)=54; P(-1)=2+52=54= L(-1)= P(-)

5. Res rovnici: (3x—2)-(5x-1)=15x"-24

Redeni:
(3x—2)-(5x—1) =15x — 24
15x% —3x—10x+2=15x>-24  [-15x?

-13x+2=-24 /-2
-13x=-26 /: (—13)
X=2

Zkouska: L(2)=4-9=36; P(2)=60-24=36=L(2)=P(2)

6. Res rovnici: (x—2)-(x-1)+5=(x—-3)-(x—4)+7

Reseni:
(x=2)-(x-1)+5=(x-3)-(x—4)+7

X2 —X—=2X+2+5=x*—4x-3x+12+7 |-X*

—3x+7=-7x+19 [-7+7x
4x =12 [:4
Xx=3

Zkouska: L(3)=1-2+5=7;P(3)=0-(-1)+7=7=L(3)=P(3)
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7. Res rovnici: (2x—3)-(x+5)+7=(x—4)-(2x-1)+20

Reseni:
(2x—3)-(x+5)+7=(x—4)-(2x-1)+20
2X% +10X—3x—-15+7=2x>—x—-8x+4+20 /-2x*

7X—8=-9x+24 [+9x+8
16x =32 /:16
X=2

Zkouska: L(2):1-7+7 =14; P(2)z(—2)-3+20:14:> L(Z): P(Z)

8. Res rovnici: (3x—2)-(8x—1)+16=(4x—3)-(6x—4)-9

Reseni:
(3x-2)-(8x—-1)+16 = (4x—3)-(6x—-4)-9
24x* —3x—-16X+2+16=24x*-16x—18x+12-9 /- 24x?

-19x+18=-34x+3 /+34x-18
15x =-15 /:15
x=-1

Zkouska: L(~1)=(-5)-(-9)+16=61; P(~1)=(~7)-(~10)-9=61= L(-1)= P(-)

9. Res rovnici: (5-2x)-(3-6x)—17 =(4-3x)-(5—4x)—-2

Reseni:
(5—2x)-(3—6x)—17 = (4—3x)-(5—4x)—2
15—-30x—6Xx+12x*> 17 =20-16x—-15x +12x* -2  [/-12%?

-36x—2=-31x+18 [+31x+2
—5x =20 /:(-5)
X=-4

Zkouska: L (—4)=13-27-17 =334 ; P(-4)=16-21-2=334= L(-4)= P(-4)
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10. Red rovnici: (2x+5)-(8x—1)+5=(4x—3)-(4x+1)+49

Redeni:
(2x+5)-(8x—1)+5=(4x—3)-(4x+1)+49
16x2 —2X+ 40X —-5+5=16x>+4x-12x—-3+49  /-16X?

38X =-8x+46 [+8x
46X = 46 /.46
x=1

Zkouska: L(1)=7-7+5:54; P(l):1-5+49:54:> L(l): P(l)
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